/DVIRB

3RPLHV]FJHQLH 5RINiDG = ( 7\
o
™
7N 7N
-HVIRUD IIRJRIL -HVIRUD IIRJRIL ™
z ZVSyiFTHVQHI Z GU KDE ZVSyiFTHVOHI 0Z G
ES = RTQIF]ND ODFLHI SIRI KDE = RTQIF]ND ODFIHI +VIRUR]IRIL
x 8-" "( )7/ SIRI 8- " ( ) DZ al
N : /= 2]ICERZVN
L ODUXV]
)/ -
7N 7N
/RIIND RIyIQD GHPLQDUXP (LFHQFIDFNH ™N
SIDIPDINFIQD iz GUKDE $GDP 2IHFK
a /RIIND RIYIQD SIRI $-= = ( ) $QDIID
o SIDJPDINFIQD Z Gl /= VHPLRINFQ
x KDE $GDP 2(HFK SURI D GU KDE
2 $-" ( )/ $GDP
- 2IHFK
SIRI $-~
)/ z
7N 7N 7N 7N
) QVIHIND GU 2]LCERZVNL QVIHIAND GU 2]LCERZVNL 7UDQUIDIRUXP BLHN +VIRUR]RID GZ =DQFD
oDuxv] = (¢ )/ oDuxv] = (¢ )/ *JHIR] = ( ) N 3DYRI = ( )/
- - / - -
=
)
o
©




